## C3 January 2008 Solutions by Mr Ely

## C3 January 2008 Solutions by Mr Ely

7. i) If 
$$y = xe^{2x}$$
 $dy = e^{4x} + 2e^{2x} = e^{6x}(1+2x)$ 
 $dx = e^{4x} + 2e^{2x} = e^{6x}(1+2x)$ 
 $dx = e^{4x} + 2e^{4x} = e^{6x}(1+2x)$ 
 $dx = e^{4x} + 2e^{4x} = e^{6x}(1+2x)$ 
 $dx = e^{4x} = e^{4x} = e^{4x} = e^{6x}(1+2x)$ 
 $dx = e^{4x} = e^{4x}$ 

9. i) 
$$los(A+B) = losA losB - SinASinB$$

LHS.  $4[los \theta los bo - Sin \theta Sinbo][los \theta los 30 - Sin \theta Sin3o]$ 
 $4[\frac{1}{2}los \theta - \sqrt{3} Sin \theta][\frac{\sqrt{3}}{2}loi \theta - \frac{1}{2}Sin \theta]$ 
 $5in 2\theta = \frac{\sqrt{3} - K}{2}$ 
 $4[\frac{1}{2}los^2 \theta - \frac{3}{2}Sin \theta los \theta - \frac{1}{4}Sin \theta los \theta + \frac{1}{4}Sin^2 \theta]$ 
 $5in 2\theta = \frac{\sqrt{3} - K}{2}$ 
 $4[\frac{\sqrt{3}}{4}los^2 \theta - \frac{3}{4}Sin \theta los \theta - \frac{1}{4}Sin \theta los \theta + \frac{1}{4}Sin^2 \theta]$ 
 $4[\frac{\sqrt{3}}{4}los^2 \theta + Sin^2 \theta] - Sin \theta los \theta + \frac{1}{4}Sin^2 \theta]$ 
 $5in 2\theta = \frac{\sqrt{3} - K}{2}$ 
 $6in 2\theta = \frac{\sqrt{3} - K}{4}$ 
 $6in 2\theta = \frac{\sqrt{3} - K}{4}$